

$\int \frac{1}{x^2} dx = -\frac{1}{x} + C$
 $\int \frac{1}{x^3} dx = -\frac{1}{2x^2} + C$
 $\int \frac{1}{x^4} dx = -\frac{1}{3x^3} + C$
 $\int \frac{1}{x^5} dx = -\frac{1}{4x^4} + C$
 $\int \frac{1}{x^6} dx = -\frac{1}{5x^5} + C$
 $\int \frac{1}{x^7} dx = -\frac{1}{6x^6} + C$
 $\int \frac{1}{x^8} dx = -\frac{1}{7x^7} + C$
 $\int \frac{1}{x^9} dx = -\frac{1}{8x^8} + C$
 $\int \frac{1}{x^{10}} dx = -\frac{1}{9x^9} + C$
 $\int \frac{1}{x^{11}} dx = -\frac{1}{10x^{10}} + C$
 $\int \frac{1}{x^{12}} dx = -\frac{1}{11x^{11}} + C$
 $\int \frac{1}{x^{13}} dx = -\frac{1}{12x^{12}} + C$
 $\int \frac{1}{x^{14}} dx = -\frac{1}{13x^{13}} + C$
 $\int \frac{1}{x^{15}} dx = -\frac{1}{14x^{14}} + C$
 $\int \frac{1}{x^{16}} dx = -\frac{1}{15x^{15}} + C$
 $\int \frac{1}{x^{17}} dx = -\frac{1}{16x^{16}} + C$
 $\int \frac{1}{x^{18}} dx = -\frac{1}{17x^{17}} + C$
 $\int \frac{1}{x^{19}} dx = -\frac{1}{18x^{18}} + C$
 $\int \frac{1}{x^{20}} dx = -\frac{1}{19x^{19}} + C$

$\int \frac{2x+5}{x^2-4x-7} dx = \int \frac{2x+5}{(x-7)(x+1)} dx$
 $\frac{2x+5}{(x-7)(x+1)} = \frac{A}{x-7} + \frac{B+C}{x+1}$
 $2x+5 = A(x+1) + (B+C)(x-7)$
 $2x+5 = Ax+A + Bx-7B+Cx-7C = (A+B+C)x + (A-7B-7C)$
 $\begin{cases} A+B+C = 2 \\ A-7B-7C = 5 \end{cases}$
 $A = 2 - B - C$
 $2 - B - C - 7B - 7C = 5 \Rightarrow -8B - 8C = 3 \Rightarrow B+C = -\frac{3}{8}$
 $A = 2 - (-\frac{3}{8}) = 2 + \frac{3}{8} = \frac{19}{8}$
 $B = -\frac{3}{8} - C$
 $A = \frac{19}{8}, B = -\frac{3}{8}, C = -\frac{3}{8}$

$\int_0^1 \cos^3(x) dx = \int_0^1 \cos(x) \cdot \cos^2(x) dx = \int_0^1 \cos(x) (1 - \sin^2(x)) dx$
 $= \int_0^1 \cos(x) dx - \int_0^1 \cos(x) \sin^2(x) dx$
 $= \sin(x) - \int_0^1 \sin^2(x) d(\sin(x)) = \sin(x) - \int_0^1 (1 - \cos^2(x)) d(\sin(x))$
 $= \sin(x) - \sin(x) + \int_0^1 \cos^2(x) d(\sin(x)) = \int_0^1 \cos^2(x) d(\sin(x))$
 $= \int_0^1 (1 - \sin^2(x)) d(\sin(x)) = \int_0^1 (1 - u^2) du = [u - \frac{1}{3}u^3]_0^1 = 1 - \frac{1}{3} = \frac{2}{3}$

$\int_0^{\frac{\pi}{2}} \sin^2(x) dx = \int_0^{\frac{\pi}{2}} \frac{1 - \cos(2x)}{2} dx = \frac{1}{2} \int_0^{\frac{\pi}{2}} (1 - \cos(2x)) dx$
 $= \frac{1}{2} [x - \frac{1}{2} \sin(2x)]_0^{\frac{\pi}{2}} = \frac{1}{2} [\frac{\pi}{2} - \frac{1}{2} \sin(\pi) - 0] = \frac{1}{2} \cdot \frac{\pi}{2} = \frac{\pi}{4}$

Substitucija metoda u LA

Ključna obala kružnice u polarnim R
 $x^2 + y^2 \leq R$
 $\int \int_D 1 dx dy$
 $\int_0^{2\pi} \int_0^R r dr d\varphi = \int_0^{2\pi} [\frac{1}{2}r^2]_0^R d\varphi = \int_0^{2\pi} \frac{1}{2}R^2 d\varphi = \frac{1}{2}R^2 \int_0^{2\pi} d\varphi = \frac{1}{2}R^2 \cdot 2\pi = \pi R^2$